Timer7.Enabled = True
Elself S=2 Then
Timer7.Enabled = True
End If

Exit Sub

End If

Out Val("&H37A"), 11
Out Val("&H37A"), 10
f1 (n)

If countl <=0 Then
Timer5.Enabled = False
Timer6.Enabled = True
T=T-1

End If

countl =countl -1
End Sub

Private Sub Timer6_Timer()
Timer6.Enabled = False
countl =90
Timer5.Enabled = True
End Sub

Private Sub PAss(M2, N2, T2, S2, C2)
m= M2

n=N2

T=T2

S=8S82

countl =C2

End Sub

.............................................

Private Sub Timer7_Timer()
g=g+1

If g=2 Then

PAss 8, 2, 1, 2, 1000
Timer3.Enabled = True
Elself g =3 Then

PAss 1, 1,1, 3, 1500
Timer5.Enabled = True
Elself g =4 Then
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